LaampPron

Power & force

NnnocTpnupoBaHHbI

KaTanor 3anacHbIX YacTen

Mopgenb: BC4311

Ne ApPTURYN HanmeHoBaHue K-BO Ne ApPTURYN HavmeHoBaHue K-so
1 300705 Pyyka pabouelt pyKoaTKu 2 9 804083 3arnywka 32 1
2 300804-1 Pabouan pykonaTKa 1 10 801165 Bont M8x60 1

3 804063 Pyuka cuennenus 1 11 300404 lalika 6bapawkosas 2
4 300702 Tpoc xoaa 1 12 300802-2 LLtaHra paboueit pyKoaTKK 1
5 801151 lalika M6 1 13 804083-1 3arnywka 22 1
6 801150 Bont M6x60 1 14 801003 Bont M8x45 2

7 802079 Pbiyar rasa 1 15 801022 laiika M8 2
8 807037 Tpoc rasa 1 16




LaampPron
Power & force

Ml'll'”OCTpMpOBaHHbII‘;I KaTanor 3anacHbIX YacTen

Mopgenb: BC4311

Ne ApTUKRYN HaumeHoBaHMe K-so | Ne ApTUKYN HaumeHoBaHue K-Bo
1 | - [suratenb 154F 1 14 300701 PemeHb npusoaa opes 1
2 300150 LWnoHkKa 4,7x27 1 15 300403-1 Koxkyx pemHs 1
3 802101-1 OrpaHunynTenb pemHa 1 16 804070 LLIKMB pemHs (peayKTop) 1
4 300501 LLIKMB pemHs (gBuraTens) 1 17 300405 CynnopT KpenieHMA KoXyxa pemHs 1
5 801093 BUHT KpenneHua wkusa M6x10 1 18 300203-2 KpoHLuTeWH KpenaeHus cynnopra 1
6 801054 laitka M8 2 19 200818 MpyXnHa KpenneHna Konec 1
7 801054 LWaiba 8 2 20 300805-2 Pama 1
8 804008 Koneco 2 21 300806-1 PyKoATKa TpaHCMOPTMPOBOYHAA 1
9 805054 Brynka koneca 2 22 300402 Haknagka Koxyxa ppes 2
10 801165 Bont M8x60 2 23 300202-2 Koxyx ¢pe3s 2
11 801194 Manew KpenneHmA COWHUKA 1 24 804017 Ponuk HaTaXkeHnA pemHa 1
12 300803-2 COLWHKK 1 25 300206-2 KpoHLuTelH KpenneHua ponmka 1
13 801040 LLUINAWHT KpenaeHus cowHMKa 1 26 300502 BTy/IKa KpOHLWWITENHa 1




LaampPron

Power & force

MI'IJ'HOCTpMpOBaHHbIﬁ KaTanor 3anacHbIX YacTen

Mopgenb: BC4311

ol
1oL (G
S

Ne ApTUKyAN HaumeHoBaHue K-so | Ne ApTUKyAN HaumeHoBaHue K-s0
1 HO01001 PepykTop KOmMnaekT 1 9 300504 Ban pepykTopa BepxHUit 1
2 300210-3 Kopnyc peayKtopa npaBas NoN0BUHA 1 10 804079 Mpobka peayKkTOpa 1
3 300210-2 Kopnyc peayKtopa s1eBas N0ON0BUHA 1 11 801040 LWnavHT ppes 4
4 804029 NopwunnHuk 6004 2 12 801085 Manew KpenneHusa HapyXHbIx ppe3 8x40 2
5 300209 Llenb pegyktopa 1 13 C3042 ®pesa HapyKHas 2
6 300503 Ban npusogaa dpes 1 14 C3043 ®pesa BHYTPEHHAA 2
7 300401 Ycnokoutenb uenu 1 15 801194 Maneu KpenneHusa BHyTPeHHUX dpe3 8x45 2
8 801069 MoawwunHuk 6003 2 16 805072 Manewy KpenneHmA WKMBA 1




LaampPron

Power & force

MI'I}'HOCTpMpOBaHHbII‘;I KaTanor 3anacHbIX YacTen

Mopgenb: BC4311

8

Ne Ne K-Bo
ApTuKyn HavmeHoBaHue K-Bo ApTUKyn HanmeHoBaHue
1 380140215-0003 bont M6x14 4 7 180650080-0001 Mpoknagka rnywutens 1
2 380940347-0001 XomyT ana nposoaa 1 8 380180098-0001 Wnunbka M8x34 2
3 120220008-0001 KpblwKa knanaHos 1 9 120080375-0001 fonoBKa umanHapa 1
4 120250013-0001 MpoKnagKa KpbIWKK KNanaHoB 1 10 120150134-0001 MpoKnagKa ronoBKM UMAMHAPA 1
5 380140338-0001 Bont M8x55 4 11 380600128-0001 WrndT 8x16 2
6 E7RTC Cseya 3axuraHua 1 12 380180090-0001 Wnuabka M6x90 2




LaampPron

Power & force

Ml'll'”OCTpMpOBaHHbII‘;I KaTanor 3anacHbIX YacTen

Mopgenb: BC4311

Ne ApTukyn HanmeHoBaHue K-Bo Ne ApTUKYN HanmeHoBaHue K-s0
1 110810278-0001 KapTtep 1 8 281850162-0001 [aTumk ypoBHa macna (B KapTepe) 1
2 380450514-0001 LWaiba ynnoTHUTeNbHasnA 1 9 380140215-0003 Bont M6x14 2
3 110260025-0001 Bont ana chnsa macna M10x15 1 10 380630002-0001 MogwnnHmk 6203 1
4 380650333-0001 CanbHUK KoneHsana 17x30x6 1 11 110800007-0001 MopyLwwKa asuratena 1
5 281890001-0001 [atumnk ypoBHa macna ( Ha Kopnyce) 1 12 380140040-0005 Bbont M8x16 4
6 380140001-0006 Bont M6x12 1 13

7 171750012-0001 Perynatop 060poTOB LeHTPObeKHbIM 1 14

Ne ApTUKyn HanmeHoBaHue K-Bo Ne ApTUKyn HanmeHoBaHue K-s0
1 380140102-0004 Bont M6x25 6 5 380630039-0001 MopwmnHuk 6303 1
2 110690049-0001 LLlyn ypoBHA macna 2 6 380600128-0001 LWtnoT 8x16 2
3 110820067-0001 KpblwKa KapTepa 1 7 110830036-0001 MpoKnagKa KpbIWKKM KapTepa 1
4 380650333-0001 CanbHuk Konensana 17x30x6 1 8




LaampPron

Power & force

Ml'll'”OCTpMpOBaHHbIﬁ KaTanor 3anacHbIX YacTen

Mopgenb: BC4311

Ne ApTuUKyn HanmeHoBaHue K-Bo Ne ApTukyn HanmeHoBaHue K-s0
1 130070090-0001 Konbuo nopwHesoe 54 mm Komnaekr 1 6 130150050-0001 LaTyH KOmnaekT 1
2 380560060-0001 KonbLo ctonopHoe nanbua 2 7 380620047-0001 LWnoHka 16x5x6,5 1
3 130030095-0001 MopweHb 1 8 130290255-0001 KoneHsan komnnekr 1
4 130060040-0001 Manew nopwHA 1 9 380620032-0001 LinoHka 33x5x5 1
5 130180006-T020 BoAnT KpbILWKK WaTyHa 2 10

Ne ApTukyn HanmeHoBaHue K-Bo Ne ApTuUKyn HanmeHoBaHue K-eo
1 140470006-0001 lalika 2 8 140020057-0001 Pacnpepggan 1
2 140490018-0001 KoHTpralika 2 9 500550033-0001 Knanana komnnekr 1
3 140460040-0001 Kopombicno knanaHa 2 10 140340027-0001 MpyKMHa KnanaHa 2
4 140480017-0001 LLinunbKa Kopombicna 2 11 140380024-0001 Cyxapb KnanaHa 2
5 140710009-0001 Hanpasnstowas TosKkatenen knanaHa 1 12 140320001-0001 Konnayek knanaHa 2
6 140670043-0001 TonkaTtenb KnanaHa 2 13 140450044-0001 Kopombicno KnanaHa Komnnaekt 1
7 140690002-0001 Tapesnka Tonkatena knanaHa 2




LaampPron

Power & force MNNoCTPUpPOBaHHbIN KaTanor 3anacHbIX YacTei Mopens: BC4311
-—10
8
Ne Ne K-Bo
ApTUKyn HanmeHoBaHue K-Bo ApTUKyn HanmeHoBaHue
1 193500040-T020 Craprep B cbope 1 6 380140011-0004 Bont M6x10 4
2 160210077-T020 KoxKyx maxoBuKa 1 7 380930025-0001 XomyT 1
3 380140089-0003 Bont M6x8 3 8 160200018-0001 Koxyx neBblit 1
4 193490087-0007 CrapTtep B c6ope c KoXKyxom 1 9 160200019-0001 Korkyx npasbliit 1
5 271660028-0001 BbikntoyaTenb 3axuraHna 1 10 380140011-0004 Bbont M6x10 1
Ne Ne K-so
ApTUKYN HanmeHoBaHue K-Bo ApTUKYN HavmeHoBaHue
1 170021061-0001 Kap6topaTop 1 3 170440054-0001 Tennounsonatop 1

2 170430111-0001 MpoknagKa KapbtopaTtopa 3




LaampPron

Power & force

MI'IJ'HOCTpMpOBaHHbIﬁ KaTanor 3anacHbIX YacTen

Mopgenb: BC4311

Ne ApTuRYn HavmeHoBaHue K-so Ne ApTUKyn HavmeHoBaHwue K-eo
1 270020095-0001 MaxoBuk 1 5 193590015-0001 CrakaH MaxoBuKa 1
2 270920176-0001 MarHeto 1 6 380370049-0001 laika M12x1,25 1
3 380140102-0004 Bont M6x25 2 7 270950065-0001 Konnak cBeuu 3axkuraHua 1
4 160180014-0001 KpblabyaTka MaxoBuKa 1 8




LaampPron

Power & force

Ml'll'”OCTpMpOBaHHbII‘;I KaTanor 3anacHbIX YacTen

Mopgenb: BC4311

Ne ApTuRyn HavmeHoBaHwue K-Bo Ne ApTuKyn HavmeHoBaHwue K-eo
1 171680124-0001 Pblvar perynvposku obopoTtos 1 7 171590014-0001 Tara perynaTtopa 1
2 380140089-0003 Bont M6x8 2 8 171610011-0001 MpyKuHa TArM perynatopa 1
3 171600041-0001 MpyXunHa pblyara 1 9 160190035-0001 Koxyx asuratens 1
4 171630021-0001 Ban perynatopa obopoTtos 1 10 381350004-0001 WnanHT 1
5 | 380570001-0001 Laiba ctonopHas 1 11 380370048-0001 laiika M6 2
6 171620025-0002 Pbluar KOHTpoNA 06opoToB 1 12 380140011-0004 Bont M6x10 1




LaampPron

Power & force MNNoCTPUpPOBaHHbIN KaTanor 3anacHbIX YacTei Mopens: BC4311
5
1]
/ 7
__“._ o

Ne Ne K-so

ApTUKYAN HanmeHoBaHue K-Bo ApTukyn HanmeHoBaHue
1 180020546-0001 Kopnyc ¢punbtpa Komnnekr 1 5 180130213-0001 PunbTp NpesaBapuUTenbHbIN 1
2 180280010-0001 OcHoBaHue ¢ounbTpa 1 6 180070110-0001 Kpblwka ¢punbtpa 1
3 380370048-0001 laiika M6 2 7 180270004-T020 bBoAT KpenneHna KpblLLKK 1
4 180130212-0001 dunbTP OCHOBHOM 1 8

1—

Ne Ne K-so

ApTUKYN HanmeHoBaHue K-Bo ApTukyn HanmeHoBaHue
1 180571298-0001 Fnywurenn 1




LaampPron

Power & force

Ml'll'”OCTpMpOBaHHbII‘;I KaTanor 3anacHbIX YacTen

Mopgenb: BC4311

Ne ApTuUKyn HaumeHoBaHue K-Bo Ne ApTuKyn HanmeHoBaHue K-eo
1 170870039-0001 Mpobka TonansHoro 6aka 1 6 380750178-0001 3awmTa WwnaHra 1
2 | 170720001-0001 dunbTp ceTyaTbivi baka 1 7 380950188-0001 XomyT 4
3 | 170500515-0014 Bak Ton/MBHbI 1 8 380020104-0001 Bont M6x16 3
4 170660077-0001 LTyuep TonaneHoro 6aka 1 9 170700102-0001 AmopTm3aTtop H6aKa 3
5 | 380750475-0001 LLnaHr TonAneHbIN 4x8x135 1




